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HOHMANN TRANSFER ALGORITHM 

1. Find velocity in orbit 1 

𝑽𝟏 = √
𝝁

𝑹𝟏
  

 
2. Find energy and size of transfer orbit 

𝒂𝒕 =  
𝑹𝟏+𝑹𝟐

𝟐
       𝜺𝒕 = − 

𝝁

𝟐𝒂𝒕
 

3. Find velocity on transfer ellipse at perigee 

              𝑽𝒕𝟏 = √𝟐 (
𝝁

𝑹𝟏
+ 𝜺𝒕) 

 

4. Find ∆𝑽𝟏 = |𝑽𝒕𝟏 − 𝑽𝟏| 
5. Find velocity in orbit 2 

                𝑽𝟐 = √
𝝁

𝑹𝟐
  

6. Find velocity on transfer ellipse at apogee 

                𝑽𝒕𝟐 = √𝟐 (
𝝁

𝑹𝟐
+ 𝜺𝒕) 

7. Find ∆𝑽𝟐 = |𝑽𝟐 − 𝑽𝒕𝟐| 
 

8.Find ∆𝑽𝒕𝒐𝒕𝒂𝒍 =  ∆𝑽𝟏 + ∆𝑽𝟐 

 

9.Find time of flight 
  

                  𝑻𝑶𝑭 =  𝝅√
𝒂𝒕

𝟑

𝝁
 

𝑅1 

𝑉1 


